01.

02.

03.

*04.

05.

06.

07.

T 03 B SN 2 AR 0 = 5a— 3 @98 B2 = 5B — 3 T O o/p ¥ L o1 R rifiwweil® fdfr v
W‘iﬁ‘ﬁ".‘ﬁlﬁu'ﬁﬂ, X2 = 5x+3 =0 AP GC T . a+p=5; af =3

R

q3w, & + (u+ﬂ}';-zua 25-6 _ 19 2 e x B_4q
3 B «

ﬁmﬁw x? ——x+1=n=>3:<2—19x+3=0
ﬁffmmmﬂmwmﬁm 2x+2y—z=5; 3x—y+32=7, 2x+3y+z=11

D
AMYA: We know, x == ; y=2. x-2=2
D D D
s 2 -1 5 2 -1 1 5 =1 1 2 5
7 -1 3 7 =1 3 3 7 3 3 -1 7
v y=—=111 3 11l _111 3 11_-30 _ 4 . |z 11 1| _ —30 _ ooz 311 —15_1
S X=T e T —15 *_—15_2" = 15 _—15_2 e 98 T -—15
3 -1 3
2 3 41

SLX=2,y=2,z=1 (Ans.)
10
(2x% +3) 99 Rfors x5 @ae x5 7 vFeies ST 20 k 9T AT T fefr <9

10 r
T: (2x% + %) 97 RIS (r + Dth W = 1°C,(2x2)10T () = 19€,210-"kx20-5F
92 (r + 1)th 7w x° AFE I 20 — 5r = 5= = 3T
9% (r + 1)th 27 x*° PR I® 20 - 5r = 15 = r = 1 T
&ENTS, 19C52103k3 = 100, 21071k = 120%x128k? = 10x512
2 _1 — 4 1
=k*=s=k=4 5 kaﬁﬂﬂﬁ?ﬁmﬂ—ﬁ (Ans.)

n-oF 7 Y% @FF Nfg$9: 1.3.5 + 3.5.7 + 5.7.9 + - upto nth term.
_ (2n-1)(2n+1)(2n+3)(2n+5)

TYEH: U, = 2n—1)(2n + 1)(2n + 3) .. - + C

n=1 7~1ﬁ‘|'(.TI ‘TI?E, 15 = 1. 335‘? +eSe= ZlE_S . Sn — (2n— 1}(2n+1};(2n+3}(2n+5} 4+ 15 (ﬂns )

2 4 8r 14x
o 99 g, 16 cns-—“ COS - COS— COS—— = 1

IqIYA: let, E =0; L.H.S= 16 cosb n:nsZH c0os40 cos76 = — (251n9 c0s0)cos20 cos40 cos70
= —(2511129 cnsZB)mﬁB cos70 = — (2511'149 cnsd-ﬂ)cns?ﬁ = — (ZSIHBB cos76)

Slﬂ

= m (sin150 + sinB) = _— (sin2n + smﬁ) =1 = R.H.S. (Pruved)
y. C 52

@ o1 faes ABC tﬂawmmgr > cos?2 + Z cos E+zcus Z=

Eﬂ - hod EE + 5(5 a) 1 s(s—b) 1 5(s—c)
WLHS—-—CDS +Eﬂ5 -!—t:n:lus2 ~X = +}{:a +=x X
_ s(3s—a—-b-c) _ 5(35—25) = R.H.S (Proved)
abc abc abc
x? +y —4535@71'(6 —B)W@‘W%%ﬂ“ﬂ‘ﬁ‘x +y2—4x+2y—35=nmgﬁgﬁmmm|m
@, A 8 B RTe = pieey [ 719

ATy x2 + y* = 45+ (1)

m(ﬁ—a)ﬁmwﬁswm 6x —3y =45 = 2x —y = 15 = y = 2x — 15 - - (ii)
Now, X2 + (2x — 15)% — 30 — 35 = 0=> 5x° — 60x + 160 = 0=>x* — 12x + 32 = 0=>(x — 8)(}; 4) =0
—~x=4,8 ~y=-71 ~A=(4-7)&B=(81)(Ans.)
AWWWW‘T%—?}?—Z(x+4)+y—7—35=U=,2};_5},_50=0
ml—-_ﬁmmmm

Bﬁwﬂ—aﬁ@mr-‘fcwﬁw 8x+y— 2(x+8)+@+1)—35-[]=>6:-:+2y 50 =0
—m,=—-3=B8 R CRATAC SfEe =P 5| 93, mlxmz—-x(—g)__

- A@B W“{W A <19 | (ShDWEd)

A9 Ea et Favy spar




08.

09.

10.

11.

12.

13.

14.

@ Tored Srieaed (—1,—-1), (1 1) aauwwﬁﬂﬁmﬁzv’" mwﬁ’rﬁ#ﬁ?ﬁﬁtfaﬁia

TAY: W TR P(x, y) Togeaa Bora s@fge «afo 771 S(—1,-1), $'(1,1) & 2a = 2v3

WA SN, SP+S'P=2a=,/(x+1)2+ (y+1)2=2V3-/(x=12+ (y — 1)?
=.~,;~:.2+;,r2+:a1:a:+2y+2=12+;e:=+_x,:1—z:a;l—23,r+2-4~/‘~/(:~:—1)2+(:s?—1J2
=4x+y-3)==4/3 G- 12+ (y - 1)2::»:: +y2 494 2xy — 6x—6y
=3x*+y?—2x—-2y+2)= 2x2+2y? = 2xy—3=0 WW@WW“T (AHS)
Ta=1+2j+3kqab =31 - 2]+3Em1scaaxbaaﬂmﬁﬂwmn | !

8 - 7 '
WY axhbh = :11 é ;{ =81+ 8] =8k .. |axb| = J(B)2+(8)2+( B)z- JF BN[—(AHS)
3 -2 1 | . | ;
W f(x) = sinx "{'«‘I_ﬁ Lt f{an 1 lﬂﬁ‘ﬂﬂ?{ﬁ‘ﬁﬁ'ﬁll | -
AHIE: f(x) = sinx= f(x +nh) = sin(x + nh) : rt““:? fm = ];I_,it[; 5‘"(“+“h“];;i“" = LE:“"%‘;:"(“*“_?)
sinZ sinl ' n N
= 2x 1_.‘t —- X th coS (x -+ ) = 2 X hEtﬂ—HL xh]::ED cos (x +— X= = lexcusxx-—- ncosx (Ans.)

™ y = sin(msin~'x) ¥, O3 (1 — xz)— —x 2+ m?y a7 T e T

d}r mcos(msin~1x) . B AN
= sin(msin~x | _
STYIN: y = sin( ); . e -

or, (1-x?) 2.2 234 (—2x) (& )z = mﬂ( 2 i1 —xz)i:_;.}; (}i’f)}{ﬁ?ﬁ,: 0

dx ' dx? dx?
. dx g
a@rie e [ —— _ A
ozl ._ : P I__-_ ‘_r- 2
T [ [x=+g)= | let, x=3 tand = dx = 3sec’0.d6_
_ 3sec’6dd _ o 1 4 A
= 'rﬂltsr:r.zﬂjz = o= j'2cns 0do = _f(l + cos ZB)dB
=i i 7 - —_— ,_ 2._ I : I=—1-.- -1}{
- (0+3sin20) +c = ( i S +c. = (ta
. ra (a’—x?)
e [5G 0L dx .
a (a?-x?) : a’aa_-l;x?—-_zx o | x%dx :
RILICE f 0 (a2+x2)2 dx = fu (aZ+x2)2 .raz_ch J-(az_H[z)z [ |
asec’0df _ a’tan®@xasec?8dd 0 2 , . - '- put, X = atanf e e 3
-'r azseczﬂ "- atsec?d . ISIH 0dd+c -[ dx =:a SEC?‘-BIdB 2
2x> T I e’ F Y
=Etan‘1£-—-— [ L +C =ltan1X-2 [tan*lf—ix—ﬂz- +c
a 2 a a a a 2 %2
aZ

2 _v2 ' B a 2 1qd "..'.-l"._.', | | S S e
L [Rax dx=1[tan.“15 _1[tan_-1£_£x a ]u=1—1[f—1]=“—“+1=1(Ans.)

0 (a%4x?)2 a alg. a -a - a  a’+x? 4a  a-l4e -2 4a 4a | 2a - 2a
X . .
fe=i T e,z =
a%+x?
2_y2 - ' 1 o
* d A% d "_'U — ] — —_— i E — Za ;1'A
" z(az_l.xz}z‘ X. X= ECET:Z—'U;K—HW:Z'——-I dZ—[Z]_—.—.( I'lS.)-

ABCWWWPWWWWQﬁWWWWWW dfé<dd R &
R? = P%(3 — 2cosA — 2cosB — 2cosC) T4 &S T4 T |

AfT9STHA ST FaNT MBe,




R, OX 9 A1ty § Tesiy Fea)
Here, Fx = P + Pcos (1 — C) + Pcos(x — A + T — C) = Rcusﬁ = P PcosC — FEDSB
Fy = Psin0° + Psin (z — C) + Psin (21 — A — C) = Rsin® = 0 + PsinC — PsinB

. 2 — .
* RE=TFF +F} = P2 4+ P2 cos? C + P2 cos? B — 2P%cosC — 2P2cosB + 2P%cosC cosB = '

+P?sin?B 4 P2sin2C —

= R?® = P2+ PZ + P2 + 2P2 (cos B cosC — sinB sinC) — 2P2cosC — 2P*cosB
= 3P? — 2P2cosA — 2P2cosC — 2P2cosB =

JAYI: 4f9, @ @ = u fs~! 992 &@TST @ = v frs~?

(i) & v+ ucosa = wcos90° = 0

SETTS, b = Uty -eeee e

2P2 sin BsinC

P%(3 — 2cosA — 2cosB — ZEDSC) (Pruv;ed)
15. ﬂmmmﬁ—mﬁﬁa@rﬁb@aﬁﬁ%wﬁﬁwﬁ%ﬂﬁtlmw@ﬁrmamﬁwm
AT t GRS S TS #ite | @ees @ Rdg a1 - | HEaE N

u

v —
= C0SOL=—= ', W= Ju2 + V24 2uvx— = uZ —vZ .
u ¥

TS, b = /(u? — v2) x t:uz—vz;ﬁ'

*16. G0 T GF AT 9 “iSred I o9 &

L | | |
b2 2 (1. 1
=2 _-':z _;.v=b,wiz——ﬂ:s‘1 (Ans.)

'S4 (BT &L (ST Lqm’ga?rcm EIREATCRER T K I

FA: A f = 22

m4+m;

32 A B = 222

mq-+msy

o4
Exﬁxﬁ

9+ 6

Xg= —x 32.2 = 6.44 ftm™? (Ans.)
x 32.2 = 231.84 poundal (Ans.) -

17. Eﬁ‘:ﬂﬁww bﬁ"wzﬁi‘aﬁﬁ ST AMl TS G AR ICH
AT GG I o7 Far =0 maﬁﬁrﬁvmﬁmaﬁw%&mﬁlwmww 9qi R IF IS

fA4ifo® 2eTa A3 T @ F4
.=z [B—2 . |B—3. -
HAMEE: 3712 W_r ST w 7 s ._ |
WY _ Sy W o d _. ki
PG =7, = ( ) P(Bﬂ P(Bz) =
p (H | P(B) P(B2) = fn"‘;: © 49
P(H—) P(By)+P (%"'—)P(Bz] ( )+ f-ux; 99

e ol - .
m }b
u 1 B '
CL

ﬂwﬁﬁamwﬁmmﬂﬁmaﬁﬁam 6 W“ﬁl?ﬂ UEaID

e 3%+ 8 7% M WIEe iR | S5l

*18. 197.25 (3 fafiiess et o9 wa fafSess wﬁrﬂﬂﬂmwmﬁw Ww mmmarwwri‘w|

HHHIE: 2|19?
2 |98-1
2149-0
2124-1

2]12 0
[3i

2|1-1

Remainder

0-1-

LSB  0.25 @9 F98q
0.25%x2= .

0.50x2= -

(0 25)1u = (U Ul)z

V MSB

(197.25), = (11000101.01),

ojef et

NIRRT N ¢ LFsn e

1..

MSB ' ©sftent
50
| 0
“\/LSB

(19?)10 = (11000101)2 =1x27+ 1}‘:25 + 1x2° + Dx24 4 [},{23 + Ox22. 4 ule + 1?-:2“ — 197

+. (11000101), = (197)10 . e
IR, (.01); = 0x27 +1x272 + 0 +0. 25 = (0. 2510
~ (11000101.01); = (197 25)10 (Proved)

r{?.;;ﬂhb?' W ey
R > [

WL Ser Fauy ser



19. (a) (3 (&7 =SIRTT A @ B (SIIGY *IT11 7% Q3L NEBAA T2
(b) B = 51 + 6) + 9k @7 At A = 101 + 8] — 8k Wa 717 SfSrF (@@ 791
SATYL: (a) A @ B (TG A1 7% TR I O CFTR I T Gelwe] 75 T Q3R OITaa ({6 30 et o83 1 =)
S A.B =039
A 8 B (ST *IT>7 TG TR I SIHA (537 M T @oiTeT 4 7 €32 SITHF @16 37 A1 089 71 25
c. AxB = 0 91
(b) B 93 s A W 97 SS9 = A cosd

el

A.B = ABcos® = Acosh =~ =22 = 2 (Ans.)
20. G IE THAI9E (S S1SHa 7 AT GILRT S (15 SO l@ YArgd SIS g STodd S0 | Ao 3y 8 THe|
0 =91 AR ST AT ©F A T
FAYIN: T DN, O 790G = t I THSl = h
SRS, hy, =g (2t—1) =7 =g t—1) =Ix>xgt? = t? =4t— 2=t —4t+ 2 =0

=t =500 o =B =24 VI >t = (2+V2) Or, (2 — V2) sec

2

ﬁ@t=(2—@secﬁmﬁﬂlwq.ﬁﬁmlsemﬂgm‘ﬂfﬁﬁ’ﬂﬁl

t=341sec &h= %x 9.8x (3.42)* = 57.31m (Ans.)
2]. 1000 kg ST&9 926 NfSa o1 @ A1 Neyy FFS oo et 4t wdirE p_ = 0.8 2= S Adw F© v A

Prefee |t #ite At Ao AT ?
FAYIA: T e, T AT Sofieaa Jid 0 @ ies
T SIS PR A 2Ite QAT AUFE |

__Fs _ mgsin@ _
Hs = R mgcosh e - The tan 6

= 0.8 = tan 6 = 0 = 38°39’ (Ans.)
22. =Y °f A2 3.0x10~3gm SET G306 oA AT ToferE wifew Are o T A 599 ofF I 36 932

CoITR AT o 2.0%10™5m WRACER (N AProd J0A, T AN AP ~AEm =ittt oo 2W@7? [+ oom

7.2x107°Nm™ !, g = 9.8ms™?]
SAYA: M = 3.0x 107%kg, m = 5.0x 1077 kg; r=2.0x10"°gm; T =7.2x10"2Nm~2;g = 9.8ms~2

mg 5x10~"7x0.8
C.cosB = = S, B =57.2° (Ans.
2nrT 2nx2x10™3x7.2x10"2 ( )

23. A0 IGT 9 B % 9if® x = 6.0 cos (3nt+§) mﬁWWﬁWWW|
t = 2sec AN (i) T4 (ii) @ G2 (iii) GIH @F T
AAY: (i) x = 6.0 cos (311: X 2+ g-) m = 3m (Ans.)
(i) v="5= —6sin (3nx2 +Z) x3n =—48.98 ms™* (Ans.)

==l

(iii)a = —6x 3 x 3ncos (3nx 2 +Z) = — 266,548 ms™* (Ans.)
24. T© B EEIRAPT SIAN@AT SHTSE @3 996 G I —100°C SN YRGS YT e E I
AMH ZI? (my/mp, = 16)

1Y We know, C = ERT s Gt ="20 L (i) [} Cg — 3RT,
m -

2=C2= R0 Rlo p —, xMe T =173x16 = 2768K = 2495°C (Ans.)

R 22 N

Mg Mpy mp




ANV
.I_r'ln_l.",‘::- R |
r 1 -l -. ‘? r-

SR [T IS 908 G0 AFSiEsas F v ois I8 T T
M SCeAfrs ot = 4.2x10%] kg=1K~1, q90qq Seoifee S = 2.1x103 Jkg~1K ™1, I9F A HCATFE LS4
= 3.33x105 Jkg™?

I 20°C TS 0°C @ SIS S, Q, = 2x 4.2 x 10° x 20 = 1.68 x 10°]

0°C 9 T FeirefRe 2rs i1 76T Ao i, Q, = 2x3.33 x 105 = 6.66 x 107
0°C 0@, (-10°C) vz Tt Foefis 30 “fify TG IS ©I7, Q3 = 2 x 2.1 x 10%x10 = 4.2x107]
- CIRFSICIBTRE Sl T TS T, Q = (1.68x10° + 6.66x105 + 4.2x10%)] = 8.76x10%] (Ans. )

*26. QI A 20°C ST 2.0 litres o{ffre FB 500W immersion heater a4 271 T effe =& 80% =i ceraet
P, OIRTT L A SN CRITS 7S T S [ Woifes ofet = 4186Jkg K]
NN Heater 9% ¥ w19 31 #i1fiy IS 09, Q, = 80% x 500 wxt = .8x500xt = 400t.
M FET RS %1 = Q, = mSAB = 2x4186x(100 — 20) = 669760].
NS, Q; = Q= 400t = 669760 .. t =210

—

= 1674.4 sec.

400 _
1.5 SSITINTER 8 0.40m IFSR AL 937 TIoT THEGT 11 20S 0.50m TR G0 THIIE G Face, IEo
fSRTT Sy 8 Rad 37

27.

TN Herep = 1.5 r; =r, = 0.4m, (r, ZET +ve 8 r, T —ve)
L_ e 1 1 1
== (n 1)( = )

1

hy i 1.1 [
r2 _'?f'_'Sx (n.4+u.4)::’f_ﬂ'4m

1i_1 1,1 1 1 _ . a v __ 1
+u_F:v+u.5 aﬁ;—ﬂ.Sﬁ\?:zm‘ﬂqxﬁ_‘TﬂF{m=E=E=4-
. ST ST I59 [RoAe T 71 i 2m 77 @3 R = 4 (Ans.)

*28. IFE VEYIE R T 1.0m HGH FH SETSIE (TATS AW 71 20cm FATY (0 (@I II@D I GG S0
FIFLTE TR CTCT @ TS A T TR TS TA?

SHiYH:u = 20cm =0.2m; v=—1m
1_1,1__ 1.1 __, . ¢ . 1 __1 _ . D —
=ty =—1t5;=4f=025m; Rp==7-= +4D . P=+4D
29.

T TS TR WS IR SSTAEA CFIFT 795 IR 10 inch W3R 1 inch. SEe 20 5t YT 9T 6

I59 AfS v (Rt Fate Aol Wit 1) TS 10 inch R Af5® 71 wa{rF reta ondr @ [ d Refar =
ANYH: QA f, = 10inch ; f. =1inch; u, = 5ft = 60inch ; v, = =10 inch

1 "o i i.—i P :E' "i -l-zl
#L=v,+u, =12+ =129091inch (Ans.) m= =2 :— == x17 = 2.2 (Ans.)
1
30.

3uF 8 6puF {IFFI9A 4o 4RFeE ifY AT I& I T84 1R AT 12V 97 q3f6 (1R ALt ot =@ - ()
TN B YA 7 (ii) LTSI YT R8T 1T 97 (iii) 2ATTF AT AAee =(fea «ifFe wvw?
AAYH: C, = 3uF = 3x107°F, C, = 6uF = 6x107°F. V = 12V

1
(i) G 4G C &, o- = o=+ o> = =5 +5 = Ce = 2uF = 2x 107°F

- 24x1078 «10—6
(if) g = C;V = 2x1076x12 = 24x107°C ; V; = g—: - ;11;-5 — 8V, V, = 4 - 2010

Cs 6x10-6 = 4-V
(iii) > 41aCe S =i, E; =5 C;VZ =3 x3x1076x 82 = 9.6x10™5

2
T 4T S I, B, = > C,Vf = ;x6x1076x4? = 4.8x10™]

31, 5.0 cm SR @3B TER TEATS AP AT 1001 FeAT G0 (7 12 GIFFF NI GITFTHE TSI FoH

31 Z | PEABTE A6 YOS BIT 0.06 CTITT GIIITFAAG FITT WG WA T 10T 70mV Rigyesiers 927 wifie
QT | CTRFALA 04T (1EF Ol 97

gt 1 = 5cm, N = 100, E=70mV, t= 0.06 sec, A = 25x10™*m?; B =7
E -_ jﬁl—llp — NAB — 0.07 e IUDHEEHIQ"“;.:E

—> B = 0.0168T (Ans.
2L = 0.06 (Ans.)

AATSHT ST Favwz wHepe



BT © {0

*32. G0 OIA-PITH aasﬁmonﬁﬁfa—m (0°C) Cﬂﬁﬂ*ﬁﬂﬁt“ﬂ@’%%ﬁ%ﬁﬂﬁﬂmm

33.

34.

35.

*36.

37.

%fe =0 OIS E = 16t — 0.04t? Q€T &P 91 T | SI-Foieod (i) FRRsrs srommar $e7 (u)%e.mr@rwatwv
AAYA: Q9ITH, E = 16t — 0.04t2 " i

(ii) TeTFY ST, tl='—=:_:ﬁ:; E =at+bt?;
FRFICI A T F AR, = 400°C (Ans. )

a=16, b=0.04; (i) Fwors oremm, t, —-E-—m=zuu“c |
aﬁwmmwﬁawmﬂnmﬁﬁﬁﬁmwmw 275 ﬁqlmﬁwﬁﬁffﬁﬁc@
Wﬁ—wﬁ 100V & mﬂqfﬁﬁr@wﬁﬁﬁjmw? mﬁ#aﬁ@ﬁaﬁm e/1R Fial 50mA mamﬁqs

TAYE: G, £ = 275; I; = 50x10°A | E, =100 Volt; £=E=275
Np Is'  Is -
SR W, =5 =1 = —275x50x1u-3.q—1375A(Ans) B - -
p p

. E; =275 %100 = 27500 volt (Ans.)
214Pb T S 26. Bﬁﬁmﬁwﬁm—quﬁmﬁm—r ’ﬂﬂﬂTW‘tﬁﬁ?ﬁ?

[aﬂﬁmmamﬁm 6.023 x10%]
FNIY: Here, —— 1 curie = 1Bq = 3 7x101“decayfsec = N = 858x10"3 fo =g ALE D
- .| 9N = 6.023x10% o9, O, m = 214gm

214:3 58x1013
6.023x1023

T = 26.8 min = 1608 sec. -
2
“on -' 5 47 N =8.58x10%3 ﬁw‘m

—_ =4.=1 — In2 : =2\ B
A = 4.3106x107%s [A.—Ti N~ _ = 3.05%10~%gm (Ans.) o

2

F

-

SRR &I, S = AN = 3.7x10° = 4.3106x10~*xN

5.0x107ms" lﬂtﬁﬂﬁ;mﬂ UST@wwcﬁwwwﬁmﬂmﬁmwmml (1)%331%?
%ﬁﬁmﬁﬁcﬁwwmwnu)?ﬁ%ﬁmwﬁmWWWT BT/

[RCTRELTa ©7 9.1x1032kg | ?atﬁﬁmawﬁ = 1. ﬁxm-ﬂq

AAYE: Here,q = 1.6x10~ IEC v— ﬁxlﬂ?ms = E—UST m = 91:{10 311<g P

(1]@111%@?@ F= qva:F-qustﬂ“[ v.L_]

F=16x10"1x5.0x107 x 0.5 = 4 x 10~12N (Ans.) |
9.1x10~31x5x107 . B IR g v
(i) ’t}?iﬂtﬂiﬁwif'r =3 = renr mﬂ_:g = 5.6875x10™*m (Ans.) |
AT 8T CFaTA 6.1x10'8m? @2 W2 P TS &S e 39x1ozﬁww1ﬁﬁ?ﬁﬁmﬁl tﬂ?ﬁﬁﬁrrm‘fm
ﬁaﬁmﬁwwﬁaﬁqmwﬁmﬁmﬁmﬁlw.mwwamwﬁﬂw| TR T R

[Pote9 99 = 5.7x10~*Wm2K ] | - : 2D = e e
AAY: Here, E = 3.9x10%°W; ‘A =6.1x10'%m?; e=1: H_-571.10 me‘zk“" R A g

x 26
E = AeoT* = T4 = 3210 = 1:12x10'5 = T.=.5787K = 5514°C..(Ans.) .

6.1%1018x1x5.7x10~8

35°C SioI@ar cc14 I N, O, tﬂﬁ"ﬂ?{ﬂﬁi‘f mw@tfﬂmﬂm CW?I‘T‘WW'?

& ST k = 1.35 x 10451, o

‘-FIT[T’:IH:Here,x=—- k—135x10“4 i | |
2 log =2 2303 1ugﬁ = 003 9 = 3004sec = 50. ns min (Ans )

We know, k= — log— =t= ToExi0~*

AfFSTa ST [agT oL,




38.

39,

40.

41.

42.

43.

45.

25c.c 2N HCl 932 50c. ¢ 0.25M stm maﬁmmw 0.25M NaOH :wwm wmww c.c NaOH anammm?-
FHIYF: v; = volume of HCl = 25¢.¢; v, = volume of NaOH ' - RS |

s; = strength of HCl = 2 (N); s, = strength of NaOH = 0.25 M = === = 0.25N

We know, v;5; = v,5, = 25 x 2 = v, x 0.25 = v, = 200c.c.

S; = 0.25M = ”““(N) = 0.5 (N); VaSa = V454 = 50 x 0.5 = v4 x 0.25 = v, = 100c.c.

- NaOH B39 S+ T = (200 + 100) = 300c.c. (Ans.) | '

UDVASH Exclusive: (25x2) + (0.25x50x2) = 0.25xV Or, V = 300cm?

FeTem @RIZTeT gRISt eowE 1.6x10~1°mol?L2. “fifiee Frerst Ww a1

STHE: AgCl = Ag* + CI™ 7 37, AgCl 93 G751 = S mol/L . .

t=FANT (1-s) s s

SAACS, 1.6x10710 =852 =5 =1.265x10" 5mnl/L

27°C OIIAR IR TR 5792 1e35{tast offS GIrare 4123.2cms ™ Z0e HHAO e SR T

ML I?
(i) Propane, C3Hg (ii)Nitric Oxide, NO (iii)Carbon dioxide, CO, (iv)Ammonia, NH;

HHHIN: No oneis the ans. | Because:C = ’% = M = 4402.386699 kg. mol

(a) pH 99 A1ffST st R @Ri?

() log[H] (ii) —log(OH™) — - - (iii) —log(H™) S (iv)none of them

FAYE: (iv) pH = —log[H™] :

(b) IHIL HICIF QI ITET (OH™ )Ermmﬂﬂtnarﬁz:cm 7mol L1 T @ ¥4red pH A9 @R =1@?

(i) ~8.7 (ii) ~7.8 (iii) ~6.8 . o (iv) ~21 '

AAYE: pOH = —log(6.2x107) = 6.21 pH=14—6.2~7.8 -

ST GFRIRS @3 B ceframEs & WWWW”WWMWWI b

AAYIF: NH, Cl O3 SRAE I99 151, A&t I8 301 GRANFA 18- - - . . - -y
K;[Fe(CN)4] -9 I4f6 Acqrén 99, Eﬂﬁﬂﬁrﬂmﬁm\ef‘—r{ﬁwmﬁawmu

Cutt @q3g zf*aWWﬁFwﬁwmﬁmmw%m .

AAYIN: 2CuS0,(aq) + K,,,[FE(CN)E](HL]] — Cuz[FE(EN)E] (5) I+ ZKESD4(aq)
(e 2T

27050, (aq) + K, [Fe(CN)](aq) — Z.ﬂz[FEEﬁNU)a](S) 142K;50, (aq)

(a) BeCl, CORiTS & 4aTe™ 7= TG ? BeCl, 97 & Sffes 467 s vext Tftw?

(b) A ‘€ YROGITE FATHRCGH “FoAIEA N4 T AR &4 FIae 62
FAIY: (a) BeCl, ¢SS sp YA a0t 906 | BeCl, 99 TR Sififes 1o AT 263 BfFS ¢l - Be — CI.

(b) ZZGITEH 7+ | TS RIS I7 B =W, FRCGITEH TS <F |
(a) i@ A Fe, Cl, 9 I, @3 Reitem RiFmster e
(b) T rafa ofeemm ¢ (Y [l crate | Hg Hg,Cl, (s)| KCl(aq)|[cH++(aq)|cU(5)

F- {g)+2H30[E)—~4HF(E}+U1(EJ Ha : | i
FAHA: (2) F2 (3F,(p)+30,0(=6HF@+03() | . |

cl Clz(g)+Hz0(ag)=H*(ag)+Cl~ (aq)+HCIO(aq)
2 12HC10(aq)=2H*(aq)+2C1~ (aq) +02(g) i TGS WERGET T AT

;= H0+1; = HI + HIO
(b) Hg.Hg2CD2 (s)| KCI(ag)||Cu** (ag) |Cu
SIICAITGS 2Hg = 2Hg* +2e” .
" 2Hg* +2C1" = Hg,Cl, -

JHg + CI- = Hg,Cl +2e~ R SRS -

FAres Cu?t + 2e” = Cu
Total Reaction: 2Hg + 2CI™ + Cu?t = ngcl2 + Cu.
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47.
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50.

51.

52.

(a) mﬁmwﬁawwﬂ ﬁmm%ﬁwmww’

(b) SIF FRIT BIPTIR @ oA COfd M@ HeAMFS I 20 =1 | Tenifs @i fRfesats saymr (ne |

ANYE: (a) BfFmm

(b) Tt B T TIPTYR IR~ FPiferar s Rfdrm vz Bt Seom 3@ w0 36 margs 1|
2NaOH + Si0, — Na,SiO; + H,0

(a) SRFEA CIPIYRA AR [ragw [y ot

(b) T FOGfT QTN W FRIEE SR MY T S 2T A2 @72

FANI: (a) TIGEH CHEPTICRA AR 20w {70172 (n — 1)d?~°ns? ™2 (01 92 TEH)

() Cot - Ar* LI T11[1(1] 4s[ ]
Co®t — Ar3d [1L{1L[1L] 4s 4p
T 6 T I L& 70 A |

saﬁ@mﬁwﬁwmwwmﬁ@ﬁﬁﬂﬁﬂmmﬁmmmw

TET SR BIA0E 9{Y @ G Gl XGET IS [HFe A Mt 94t 2Anedt e Gt [F e FaeE?

RicFatew e |

FAAYA: S03~ &< e 371 fAf&Fare S02~ + Br, + H,0 — 2HBr + S0~ [&134)]

S03~ + BaCl, — 2CI™ + BaS0, |
T

(a) 100% H,S0, 9 ST A=t S0, 7T Sie=l Fare1 Ny @i Sy su =172

V(i) Sulfan (ii) fuming H, SO,

(iii) Oleum (iv) Pyrosulfuric acid (H,S,0,)

(b) K,Cr,0; @3 KMnO, @ ISR @ pimifAe sae 2y ILerc-

(i) 5,6 V(ii) 6,5 (ii) 6,7 (iv) 3,9
AN 2x1 + 2xx+ 7x(—2) =09, x = +6 @R Ix1 + Ixx + 4x(—2) = 03f, x = +5

(c) e R i1 oI 1s ST T9-19 901 96 % FE? ,

(i) Lithium (ii) Flourine V(iii) Hydrogen (iv) Nitrogen
(a) RiFam =gy ordne e gft cre oo wifemidfes uftie toft wa?

H ONa Na H H
125°C COONa H,0 COOH
AT + NaOH - +H,0 ; + C0, —— S—s

(b) UG *F 7 @2 AABT 7T 77t

EH‘_] H]

AlCl;anhyd COCH3
STAYH: CH; <O + CH; — COCl ————5 @’ ¥ %}j +2HCl

OCH;,
2-firtEm, 4-firirge,
=13 2R FrTrEe BT

(a) fom el aiffews T3
(i) Rubber (ii) Nylon (iii) Polyester (iv) Polyethylene

SAYi: (i) T© (i) T (iii) TreI= (iv) Io
(b) FGR @M aft@yet n-THem 2 Tw?

OB, i COO (iii)

V(iv) %

5-5 Collision s=p colllsion Head to Head Sidewise
p-p Collision p—p Colllsion

Sandmeyer fafeF 97999 9T O-Toluidine (ATF fFSIE O-Chlorotoluene tofd T4t zq? FHfeEmiioa grorafer orahe |

CH, CH

3
e @—NHJ HE]HaNﬂg @_NIC] HCICuzCIE @—Cl
-5°C

1009C




>3 (a)wwmﬁmamﬁaﬂﬁwqﬁmﬁﬁmmﬁvﬁmw
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(b) R =g o g3t 1o Bue o Fam @R e T4 I 17

(i) Protein V(ii) Nucleic acid (iii) o-Amino acid (iv) Peptide
54.  (a) CH;3l 933N 4rex Gifeaes [y Mam @Rt Sesiy 237
(1) C3Hg V(i) C,Hg (iii) C,H, (iv) C3He
FAMY: 2CHs1 + 2Na 2, ¢, H, + 2Nal
@meﬁmﬁ%ﬁmmmmﬁwwﬁmww
(i) CH; = CH, (ii) CH = CH \(iii) © (iv) CHz — CH = CH,

TANE: ST W= (5 @Tet A KMn0, 7141 Sifs =31
(b) RNA 8 DNA TS #iie folAeitas ez iis Adee SIeIta siferss wiiofie A 4

HOH,C 0 OH
FAYN: DNA 5 p — D — 2 feufaaidmre i
H H
OH H
HOH,C 0 OH
RNAI2 B — D 91204
H OCH OH N

EH&G |

535. Change the following sentences as directed:

(2) Everybody admitted that he was honest. (Make it negative)
Ans: Nobody denied that he was honest.

(b) He not only made a promise but also kept it. (Make it simple)
Ans : Making a promise he kept it.

(c) Ihave no money to spare. (Make 1t complex).
Ans : I have no money which I can spare.

(d) As soon as the thief saw the police, he ran away. (Make it negative)
Ans : No sooner had the thief seen the police than he ran away:.

(e) The answer he wrote was not to the point. (Make it simple)

Ans : His answer was not to the point.

56. (a) Change the form of the narration of the following:
(i) "You know it isn't safe to go to bed without locking the door", he said to his wife.

Ans : He told his wife that she knew it wasn't safe to go to bed without locking the door.
(i1) He also asked her why she had not locked it.
Ans : He also said to her, "Why did you not lock it?"
(b) Change the voice of the following
(i) He should be told to go home:
Ans ; Someone should tell him to go home.
(ii) Rice is cheap when it is sold.

Ans : Rice sells cheap.
(iii) To whom are the ways of nature known?

Ans : Who knows the ways of nature?

57. Fill in the blanks with appropriate prepositions:
Ans : A Friend of mine was elected mayor at his small town. Since he still had to maintain his regular full-

asked, "Why in the world did you run after mayor"? He answered, "Sn I could have my own telephone."
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Translate the following into English. . -
(a) wmq@rﬁmwwmmwﬁm@mﬁw | |
Ans: It cost me taka one hundred to buy a pair of shoes. . : = _
b) T SR Tew-d @it A A @3 Je W= |
Ans: There is an island named Greenland to the north-east comner of North America.
(c) iV Fow N Ty RIS SE? 40
Ans: How long have you been waiting for me?
(b) =RFNTS AT TS TR == T
Ans: It is rare to find a place like home in the world.
(e) «IN NI AN LA
Ans: It is time to sleep.
Make sentence with the following: - ; i _
(a) In black and white-They demanded their rights in black and white. | |
(b) Over and above- He is over and above a lazy person.
(c) A rainy day- A rainy day stops the wheel of our economy.
(d) Cats and dogs- It has been raining cats and dogs since morning.
() Make out- He could not make out the significance of the incident. |
Read the following passage. On the basis of what is stated or impli_éd in the passage, tick ( V) the corresponding box

to choose the right answer from the three choices given after each of the questions.

Dionysius, King of Syracuse, had a courtier named Damocles, who always flattered him saying, "How grand it must
be to be a great king like you, sir!" One day Dionysius said to him, "You shall be king for one night as a reward for
your loyalty". Damocles was over-joyed, and that night he sat on the k:ing"s seat at the head of the table, dressed in the
royal robe: But as the feast began he chanced to look up and saw over his head a heavy sword hanging by a single
thread. The dreadful sight spoiled his dinner and all his pleasure and pride. He was very glad when the feast was over
and he could leave the royal seat. Next day Dionysius asked him how he had cn_]uyf:d himself: "Not at all", cried
Damocles, "At the time I was in terror of the dreadful sword falling on, ]_lelheadr' "Now", said Dionysus smiling,

"You know what it feels like to be a king",
(a) What does the passage mainly discuss? | | o
(1) Dionysius, King of the Syracuse, . wh T . b3
(11) Damocles, the courtier. , | | o S N -
V(iii) Damocles's experience as a lﬂng, ol bl B8 i VR e
(b) What was the experience?
(1) A pleasant one.
- (i1) An exciting one.
V(iii) A dreadful one.
(c) Damocles was made king for a night. -
(i) Because he thought it would be wonderful to be a ]-;:mg
(11) Because he flattered the king. |
'\f(m) Because he thought being a king was grand and for his loyalty he was allowed to be one.
(d) Democles saw a heavy sword hanging by a single thread was. | L
(i) Before him |
(ii) Near him. o
v (iii) Just over head. |
(e) He saw the sword- | ,
(1) As soon as he sat down in the king's seat.
(i1) When the feast was almost over, v e
V(iii) When he happened to look up b},r chance at the beginning of the feast. -
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